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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 171 13.6 3.7 25 54.6 100
2 171 11.4 3.8 25 45.7 100
3 171 11.4 3.8 25 45.7 100
4 171 10.8 3.6 25 43.3 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (a) (ii) 0-3 marks: 
Answers that give a basic explanation of the 
disadvantages for wider society of individuals 
following a healthy lifestyle.  Little or no use of 
specialist vocabulary. 
 
4-5 marks: 
Answers that give a detailed explanation of the 
disadvantages for wider society of individuals 
following a healthy lifestyle.  Specialist terms used 
with ease and accuracy. 
 
Likely answers may include: 
 
• increased number of infections 
• increased discomfort 
• more damage to the body 
• loss of mobility 
• deficiency diseases 
• increased risk of mortality (shorter life) 
• loss of active time 
• loss of income 
• poorer social life/quality of life 
 
(Accept any other reasonable answer.) 


5 2 3   


 








Sticky Note

3 marks. A lower band answer, a range of issues identified but explanation is poor, and the comment on immunity is muddled.








Sticky Note

1 mark. A poor, lower band answer, the initial statement indicates an answer to the wrong question, but comments on reduced immune function and obesity warranted some credit.








Sticky Note

4 marks. An upper band answer showing a clear understanding of the range of potential disadvantages, not quite enough explanation for full marks.
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3.	 A healthy lifestyle is important for disease prevention.


	  


	 (ii)	 Explain the disadvantages for the individual of not following a healthy lifestyle.		
	 [5]
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (b) (ii) 0-3 marks:  Answers that give a basic discussion of 
how cardiovascular fitness, balanced diet and control 
of the use of recreational drugs can all contribute to 
the avoidance of non-infectious diseases; may be a 
poor consideration of a number of aspects or a 
reasonable consideration of one.  Answers convey 
meaning but lack detail.  Little or no use of specialist 
vocabulary. 
 
4-6 marks:  Answers that give some relevant 
discussion of how cardiovascular fitness, balanced 
diet and control of the use of recreational drugs can 
all contribute to the avoidance of non-infectious 
diseases.  Answers convey meaning, with some use 
of specialist vocabulary. 
 
7-8 marks:  Answers that discuss, in detail, how 
cardiovascular fitness, balanced diet and control of 
the use of recreational drugs can all contribute to the 
avoidance of non-infectious diseases.  Answers are 
well-structured and clearly expressed.  Specialist 
terms used with ease and accuracy. 
 
Likely answers may include: 
 
• the contribution of cardo-vascular fitness to 


reducing plaque and blood pressure 
 


• management of diet ‒ how minimising the intake of 
salt, refined sugar and saturated fats reduces the 
risk of CAD (also credit reference to diabetes) 


 
• management of diet ‒ how intake of sufficient 


quantities of vitamins and minerals can minimise the 
risk of diseases of deficiency 


 
• avoidance of alcohol, smoking and other 


recreational drugs ‒ all are general risk factors for 
most degenerative diseases 


 
(Accept any other reasonable answers, including 
reference to avoidance/management of occupations 
which expose the body to undue, repetitive stress or 
environmental contaminants such as dust.) 


8  3 3 2 


 








Sticky Note

0 marks. Not discussing non-infectious disease at all.








Sticky Note

A comprehensive answer, given 8 marks. Discussion is thin in places, but enough detail coupled with a wide appreciation of the possible range of issues was considered sufficient. 








Sticky Note

4 marks. A middle band answer, listing   reasonable  potential choices, but the discussion of each point is poor. Only one non-infectious disease considered.
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	 (ii)	 Discuss the range of choices that an individual could make to reduce their risk 
of developing a non-infectious disease.	 [8]
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Question Answer Mark AO1 AO2 AO3 AO4 


4. (a)  Award 1 mark for each correct answer, up to a maximum 
of 3 marks. 
 
Likely answers may include: 
 
• through breaks in the skin/open wounds 
• through the mouth/gut 
• through the urogenital openings 
• through mucous membranes in the nose/eyes/mouth 


3 2 1   


 








Sticky Note

2 marks. Three portals given, as listed in the specification, but not showing understanding of the question, which specifically rules out the respiratory tract.








Sticky Note

0 marks. Not addressing "portals of entry". Would have gained some credit if any indication had been given of understanding  that breaks in the skin are a point of entry.








Sticky Note

3 marks full list as in MS and Specification, correctly missing respiratory tract as indicated by the question.
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4.	 Ebola is a virus that has been causing some problems, especially in West Africa. It is  transmitted 
by direct contact with the bodily fluids of an infected individual, alive or dead, but not by airborne 
droplet transmission. At the start of the 2013 outbreak, no vaccine existed for this virus.


	 (a)	 Identify the likely portals of entry into an individual of such a virus.	 [3]
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Question Answer Mark AO1 AO2 AO3 AO4 


4. (b) (i) Award a maximum of 4 marks for a detailed explanation. 
 
Likely answers may include: 
 
• antibodies in the plasma 
• bind to (antigens on) the virus 
• neutralise the virus 
• mark the virus 
• phagocytes engulf (and digest) the antibody marked 


virus 


4 2 2   


 








Sticky Note

0 marks. Shows no relevant understanding.








Sticky Note

4 marks. Enough detail to show an excellent understanding of this type of passive immunity, although misses the detail that the phagocytes will engulf the antibody/antigen complex. 








Sticky Note

2 marks Starts with correct mechanism, but is then distracted into a general description of how vaccination stimulates active immunity. 
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4.	 Ebola is a virus that has been causing some problems, especially in West Africa. It is  transmitted 
by direct contact with the bodily fluids of an infected individual, alive or dead, but not by airborne 
droplet transmission. At the start of the 2013 outbreak, no vaccine existed for this virus.


	 	 	


	 (b)	 One treatment that has been used is to collect plasma from patients who have recovered 
from the virus, and transfuse it into sufferers.


	 (i)	 Explain how plasma from patients that have recovered from Ebola might help in the 
recovery of newly diagnosed patients.	 [4]
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